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He derives it from a ‘slanderer’ — VT OW RIXIAN A

OVERVIEW

The X3 explains that n"9 maintains that 7 079 are PR2wM PP? (even though
that (generally) we derive from nywn >7 that 2>wm 777 PR, nevertheless by o7y
T the rule is 05w P17) because we derive Pt 027y from ¥1 ow XXM, just as
by 2"wxw he is ohwm 1717 the same applies by 17 07w, We have learnt
previously” that in a case where we cannot fulfill the ont qwx> (by w113 12, etc.) we
give Mpon to the 11 079 (even though 1 2°7¥ is considered a 12 PRW WY
awyn,” for which generally nip%n is not given), because we derive it from the P05
of* w1 Mdi7 12 oX 7M. Our MOIN explains the necessity of this P10o.

nooIn asks:
- AUPN 13 PRY INY SINNT 99 YY GNT P9 DY NN PRI D31 313 19959 9NN ON)

And if you will say; let us also derive by n»r 257 from 2''wx» that even

though it is ;Twy» 12 PRW XY, nevertheless the punishment is NP2 -
- YUR MM 13 BX 1P Y NnY)

So why do we need to derive this from Y@= 157 32 @R 797, when we can derive it
from 7"wxM?!

N1B0IN answers:
—=PWUIN MM 13 BN NI KON D97 NapTs KD 19993 ¥9 Y NOWINT 99D Y

And one can say; that we would not now that =''wxy himself receives nip»,

only from the 7105 of w477 M157 32 &N -
= 91909 190 1Y (.x,m 97 mama) NNNINIY NIYI P93 9INPT

As the X723 states in annppmw 79w1 P99, we derive (through a Mw 77°T3) 199°
(which is written by 7"w¥)’ from Y98 (which is written by a 7111 1710 12)'° -

" A 2"wxm is one who claims falsely that he wife was not a 7212 (as she claimed to be). When the falsehood is
identified the 77N writes (in ©>-11°,20 [R¥N] 0°7127) that DR 1992 WKRT DR RITT Y7 37 NP (which is mphn), and then
"3 ¥ aY ORI 0D 77937 28D 103 902 aXn ink 1wy (which is 17n). The 1"wxmn is penalized with mpon and 1nn.

231

3 Merely speaking (which is all the 111 07y are doing) is not considered a 7wyn (an action).

42,75 (Xxn) D™27.

3 9" is also a Awyn 1 R WY (like P 027y [see footnote # 1&3]). Just as we derive the w171 by 1anm o>y
that they are o7wn 17, from 1"wxw, we can also derive an additional w71 from 2"wx that there is Npon for oy
71 (in a case where we cannot carry out the ‘regular’ ont WwXd) even though it is a wyn 12 PRY WKY.

® The n"a;7 M7 amends this to read X 137 0 (instead of XY *X7 *9).

" See ‘Overview (footnote # 2).

8 We would not know what the 7mn means with "mx 110" (see footnote # 1) if not for the P15 of N1 12 X 77
YW as Moo continues to explain. Therefore we need the P09 of YW1 M7 12 R 7777 to teach us Mpon by V"W
(through the following mw 77°13) and it also teaches us Mp?» 211 by P o*7v. See “Thinking it over’.

? See footnote # 1.
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And we derive the 199" (which is written by a 7771 970 12) from the word 32
(which is written by a 771 970 12)," [and the word Ja (which is written by a 12
7711 7MD) is derived (through a Mw 77°13) from the word 33 (which is written'* by
O] YW NI9T 32 BN.

SUMMARY
The P09 of "3 ¥WI7 M7 32 OX 7P is necessary to teach us that there is a mpYn 2vn
by 1"wx¥n (and 7710 72) as well as by 77 27V,

THINKING IT OVER

In the conclusion of '01n is it necessary to derive 121 2>7¥ for Mmpo» from the 10D
of YW1 M3 72 ok 7°M (by expounding the YWI7 DX W WIAM P 787 DX P TX, as the
Xn3 states previously on 2,1), or once we have the 777°% by 2"wxm (from 2 oK 7°m
YW1 N37) we can derive Pt 027y (directly) from 1"wxm?"

10 x5 (Rxn) o727,
" Just as the word 12 (in the P09 of YW1 N57 12 oXk 7°M (obviously) refers to Mpn, so too the word 110" by a 12
779 710 means NMpYn, and just as the word 110”1 by a 170 12 means NIPY1 so too does the word 110™ by a 2"w¥n
mean NIP7n.
12 Therefore we cannot ask that there is no need for the 2109 of 131 ¥WIn M7 12 P to teach us that 'Y receive mphn
for we can derive it from 2"wXwa, since without the P05 of "2 ¥ywa7 M>d7 12 ok "M we would not even know that a
7"wx (or a M0 72) receives NP,
13 See footnote # 10.
1 See footnote # 3.
15 See 1% 1w and 7oA wIon XN # 95-98.
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